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If more than one answers are marked, it would be treated as

wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.
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1. Inreal GDP calculation, we have - 1. oA% G@d @R SE P AT © —
(1) Constant prices (1) RerR Fd
(2) Current prices 2 uRgdTehe Brm
(3) Ratio of Constant and Current prices @) fer g gRad=¥ia Sl o1 AT
(4) All of the above @) SR 6
2.  Marginal revenue is equal to the change - 2. HFG S ARSI P ERER § —
(1) in price divided by the change in () &Hd H g7 HFT SaiEd § uRads
output (2) waared ¥ §¢ 9N e § aRac
(2) in quantity divided by the change in
price (3) PxQ ¥ uRedw Wi 5 ufy s&E
* (3) in PxQ due to a one unit change in SqE § IRadT T
output .
(4) price but only if the firm is a price ) PR s s {5 i F
searcher et &l
3. Fisher’s ideal index number qualifies which of 3. eR @1 e YEdie e I d B
the following test? W T TR Sawar 87
(1) Only time reversal test (1) Hae GFI SShRYT TRiE
(2) Only factor reversal test (2) Dad TG ShIIAl e
(3) Both time and factor reversal test (3) < 99 g T SbIE e
(4) None of the above @) SRS Y PE W
4. Stractural reforms and stabilization measures 4.  EREFIP® GUR qUT ReRIweer SuR Eik]]
are the two groups of which policy? foa it @ wiE 2
(1) New Economic Policy O 3 anidls A
(2) Monetary Policy (2 #Hite Ny
(3) Trade Policy (3) =R R
(4) Fiscal Policy @) e Ry
5. Match the following — 5. fiam ofw —
A. Gypsum I  Jhamar Kotra A oy 1 SR Sl
B. Copper I  Rampura > o
s T
C. RockPhosphate III Khetr ;
D. Lead-Zinc IV Jamsar D. W - wwl IV SRR
A B C D A B C D
(1y m I v I (1) 1l I v i
2) v I I | 2 Iv I i} I
(3) oI v I I (3) I v 1} I
@ I it I v @ 1 I i I\Y
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10.

Quantity demanded changes by a smaller 6.
percentage than does price then elasticity of
demand will be -

(1) perfectly elastice = o

(2) inelasticO0<e<1

(3) elastice=1

(4) perfectly inelastice =0

Mr. X is a farmer who grows food grains in his 7.
one acre of land. His village has 50 small
farmers. If you are interested in knowing the
economic conditions of small farmers and you
want to compare the economic condition of
Mr. X in his village.
If you see the land of Mr. X is above average in
ordinary size then which measure of tendency
is used as a tool?
(1) Arithmetic mean
(2) Median
(3) Mode
(4) Correlation
The cost curve never takes ‘U’ shape - 8.
(1) Short run average cost curve
(2) Long term average cost curve
(3) Average variable cost curve
(4) Average fixed cost curve

Contraction of demand is the result of - 9.
(1) decrease in the number of consumers
(2) increase in the price of the good
concerned
(3) increase in the prices of the other
goods
(4) decrease in the income of purchasers

In statistical modelling ................ isasetof 10.

statistical processes for estimating the

relationships between a dependent variable and
one or more independent variables.

.{1) Regression analysis

(2) Measures of variation

(3) Correlation coefficient

(4) Measures of central tendency

|l T A7 § e B o § o9 wiie
giRece 2, AT |7 @ A 2Rl —

(1) PP dARERe=w
(2 T O0<e<1
) dEERe=1
@4) O A e=0

Al Xt a8, S ool F tae g/
TR IS ST g1 SEd g A 50 Bie
foa €1 9} e o X @ik s B
feamt 1 anfie Refty & gomT o ==
g1 3l o <o § 5 o X ) 9w
| SR Aed § &, O 98 om @ o B

| BT WgRT BT AN U AR @ w9 §
SRAHTA BB STT?

D) THER Ay

(2), ifeg®T

3) d9ga®

@ BT

AT 9% W B g AHR TE A —
(1) @ T T 9

(2) <@ g @rTg I

(3) i uRadwEie ane T
@ shwa Rer wirrg 9%

AT F1 Hga aRom & —

(D) SuvigarRl & Hem § o0

2) <9 IR o od N gy

(3) I aRgEl P a9y
@) BIFatel B A B ger

AR AT H o, TH
iR ufhamsil &1 de € ve ok aftw
2

(1) W &gy
) foge= o1 91
(3) <IEHSY Uie
@ =™ ugRy 719

11- §

Page 3 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

11. Which theory has its'roots in Game of Chance  11.

and Mathematics?
(1) Theory of Relativity
(2) Theory of International Trade
(3) Probability Theory
(4) Lewis Theory

12. Trade protectionism is the - 12.

(1) economic policy of restricting imports
from other countries through nethods
such as tariffs on imported goods

(2) economic policy of restricting exports

(3) economic policy -of, prohibiting
investment .

(4 economic policy ‘of ericouraging

. - 44
1mports

-

»iad

13. During the derivation of IS curve, the first part  13.

N ®
18 -

function that shows

)
between

(1) Investment
positive relationship
investment and the rate oOf interest

(2) Investment function that shows inverse
relationship between investment and
the rate of interest

(3) Savingsfunction

(4) Demand function

14. Ricardian Theory of Comparative Advantage 14.

was presented in the followingﬁform in 1936 -
(1) Absolute advantage theory
(@) H-O theory
(3) Opportunity cost theory
(4) Reciprocal demand theory

P 91 fagia 9arT ok TRE @ ¥d ®
IEnRe 87
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A= <o 9 emamal @ widetRa
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frafal =1 wfoafa w1 31 snlie
i

o e et @1 anfies AAifr
STl BT WeHIRT B B AT
iRy

IS €5 BT eI~ HR TR U I & —

1)

)

A3)
@

RferT wom W 6 faffanT 9 s
¢ § TS ey waidia P B
fafs=rr wom <t {6 i g ==

= ¥ o e uehda wxar €
T Bl

AT B

qerioTs M BT RefSa Rigia 1936 4,
59 W9 ¥ UK foar -

®»
@
&)
@

T @ @1 Rygid
H-O Rgia
TR T &1 Regia
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15.

16.

17.

18.

Desire to have a commodity backed by
willingness and ability to purchase that
commodity at given price at a point of time is -
(1) Supply

(2) Utility

(3) Demand

(4) Elasticity

Oligopolistic industries in a kinked demand
curve model assumes, that -
(1) response to a price increase is less than
the response to a price decrease
(2) response to a price increase is more
than the response to a price decrease
(3) celasticity of demand is constant
regardless of whether price increases
of decreases
(4) elasticity of demand is perfectly elastic
if price increases and perfectly
inelastic if price decreases

Match the correct pairs —
(a) Visual non — (i) Films
projected aid
(b) Visual (ii) Black Board
projected aid
(¢) Activity aid

(d) Visual aid

(iii) Globe
(iv) Exhibition

a b c d
@ i iv i i
2) ii iv i iii
3) i i iv ii
@ i i iv i
The first Psychologist who devoted much of his

time in collecting data on Adolenscence was -

(1) Froebel

(2) Ziller

(3) Pavlov

(4) Stanley Hall

15.

16.

17.

18.

o FlREa 9vg W ) 1 D w e

DI FTBT T ST P! & —

M gl

(2 sSuyAfiEr

@ 4

@ =

IeMRPR SEN F Areyd AT o, §

= ®, 6 —

(1) Fma dem o uRifbar o9 ¥
aﬁmaﬂwﬁaﬂ%aﬁuﬁr@m

)] Hﬂqﬂﬁaﬁﬁgﬁl’m(ﬂﬁiﬁ%
gﬁmﬁzﬁﬂammﬁaﬁnﬁm

€] Hmaa"ra’mwwrﬁa?s‘cﬁ%aﬂﬁa
T WIS §

@ waﬁaﬁawﬁmaﬁw%aﬁw
:gtr\raw?méa’m%aﬁna

el i BT fam B —

() J@emaflT @)
TSRS AT

b I T (i)
HEIE QT

() fras
TERS Il

(d) I HEES @iv)
Bl

a b c d
i
i

forem
=i IS

(i) e

EESIED)

@O i v ii

@ i iv iii

@ i i iv i

@ i i iv i

feRmEReT R ST UBH B § QAT
IFREET Ty T e 9ol ugdl
IS o —

(1) WA

) Rrer ~
) uEdfd

@ el i
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19. Hecksher-Ohlin Theory says that - 19. ImR—siElem Riga @ g, & — r
(1) where labour relatively plenty, will be (1) e 59 e ¥ 98 ol awdel |
replaced by capital goods god &3 SRR
(2) where labour is relatively plentiful, (2) & %M onerpa ARE T dE
will tend to export labour intensive SIS agElt @1 e Y
products o - ‘ @) <= el Eﬁ"f % a5 yolmmew aegatt
(S) where capl.tal ?s rela.tlvely scarce, will 1 ST TR
export capital intensive products
(4) None of these @ ¥ | P TE
20. Which of the following is not a function of 20. @HIRG §F F1 fre1 & W P 76l & —
Commercial Bank?
(1) Receipts of deposits @ et 1
(2) Lending of money ) 1wl SRR IR W
(3) Agency services (3) TR Far
(4) Issuing of cuirency @ T @ T
21. “Bducitional Psychology is the study of 21. “Rem iR Jufre wRRefml @
Psychological  aspects of educational TaSIE el BT A ®1Y A uiem
sitnations.” This definition is given by - fraar 27
(1) Alice Crow O ERIGLE
(2) Skinner (2) R
(3) Stephen @) o
(4 Trow @ =
22. Suppose the monthly income in tupees of six  22. I f& HfcHIE T HA B aRaRi B -+
families is given as 1600, 1500, 1400, 1525, THR W B9l A & — 1600, 1500, 1400, 1525,
1625 and 1632. 1625 ¥ 1632
The mean family income is - gRart &) aia o Bl —
1) 1647 1) 1647
) 1747 Q) 1747
(3) 1547 (3) 1547
(4 1000 @ 1000
23. Liberalisation refers to - 23. SERIBRU HT AqEd § —
(1) slackening of Government regulations 1) Expr FrEm & s
(2) strengthening of Government @) e P o) e
regulation () TR T I R
(3) more controls in trade
(4) more restrictions in exports @ i o= s e
11- & Page 6 of 32
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24, The variable that links the market for goodsand 24, R TW & S IS-LM A @ SRl
services and the market for real momey T U9 QAqRil & 9I9R 91 aRafds el
balances in the IS-LM model is the - IR &1 DT Sedl 87

(1) consumption function (1) SUHFT T
(2) interest rate () O =
(3) price level @) # wR

(4) nominal money supply @ sifra 75T O

25. The cost of one thing in terms of the alternative ~ 25. 3%y & v § TFH F T —

given up is -
(1) Average fixed cost (1) 3 Rer orr
(2) Total cost (2) %o @rTG
(3 Opportunity cost (3) EER «ig
(4) Marginal cost @) M= R

26. Total utility is maximum, when - 26. fol SUHAET AfHaH BT 8, 59 —
(1) marginal utility is zero (D) =T SugIiET 9 8@
(2) marginal utility is at its highest point @) T ST q st g
o wa
(3) marginal utility is equal to average @) G ; s NN
utility
ility is maximum S gl

(4) average uti @ s &

27. Welfare economics is a branch of economics 27. STl AWRF, NRfeRA & 98 wrET &, o

that uses .............. techniques to evaluate & BT BT T WR R qoihT B sl
‘ welfare at the aggregate level. Tepeils ST SUIRT FHIa 2 |
(1) Macro economics 1) A aefure
(2) Micro economics @) i sefurey
(3) Positive economics B) GHFRETF A
(4) Supply side economics @ Rf wer et

28. Which of the following is Broad money? 28. fFafoRag 9§ 9 o= ﬁﬁﬁ a1 87

o M @O M

2) M 2 M

3) Ms; 3) Ms

@ M @ M
11- @ Page 7 of 32
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29. Generally the largest component of aggregate 29. STHNAT AU HiT B 98 S0 °TH Bl
demand is - g - '
(I) Consumption expenditure 1) SUHIET g
(2) Investment ) ST GE]
(3) Savings (@) T
4 Tax @ o
30. Spearman’s Rank Correlation Coefficient 30. WA & P Fe—ww TG BT A
formula - g —
2 2
(1) P=1+H(6n§—d_‘—ﬁ ) p=1+%
d;? 2
@ prPr=1- (E 5 @ p= n(%d 5
3) _1- 62d;* 3 _1-6%d; 2
n(n n(? - 1) 1) n(n2 1)
@ poLit 62d;’ @ polt6Td 2
n(n? —1) “n@-1)
31. Match the following - 31, foomm a1 -
A. Freedom of 1. Communist A, 9EH o WdaIar 1. 9EaRl
eaterprise Economy srefegawen
B. Equitable 2. Capitalist B. wwfRi & @A 2. ofiard
distribution of Economy oo RDRIGESH
wealth C. e dgd 3. Pl
C. Capitalisminthe 3. Mixed Gotrara arefemaen
oxygen tent Economy D. 9EFE B 4, TSI
D. Public ownership 4. Socialist BIERIRED SreferaRe
of resources Economy e
A B C D A B C D
@ 1 2 3 4 1 1 2 3 4
2) 2 1 3 4 @ 2 1 3 4
3 3 2 1 4 @ 3 2 1 4
4 4 3 2 1 4 4 3 2 1
11- @ Page 8 of 32
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32. Match the following — 32, MM U —-
1. AdamSmith A. Comparative 1. vsH R A, gorl®
Advantage o el
Theory Rrgia
2. ).S.Mill B. Absolute 2. WY e B. U <
Advantage &1 fgra
Theory 3. Reret C. gopd AN
3. Ricardo C. Reciprocal Rygia
Demand Theory 4, R D. SRR
4. Haberler D. Opportunity ST
Cost Theory Ry
1 2 3 4 1 2 3 4
M B D A C M@ B D A C
2) B A C D 2 B A C D
3 B C A D 3 B C A b
4 C D A B @ C D A B
33. The rules of probability for any event A is — 33. wvET & Rigia & fFram Rl @ sa< A
@ forg -
1) osP)<1 I o=sPA)<1
(2) 02P(A)21 2} 02P@A)21
@ 0=P@A)=1 (3 0=P(A)=1
@ O0<PA)<1 @ 0<PA)<1
34. All of the following are characteristics of a 34. &/ ¥ T THWER & <& & Th &
monopoly, except - 3lefldt —
(1) there is a single firm @ TS BE
(2) the firm produces a unique product 2 % 3T SIad BNl &
(3) existence of price discrimination @) T e 9 gRIar
(4) there is a single buyer @) TP & Ber
35. Goal of sustainable development is- 35. URUY 6N o de e § —
(i  Quality education @) o g R
(ii)  Zero hunger (ii) YT T BT
(ili) Clean water and sanitation (i) g T vd Wl
(iv)  Reduced inequality (v) SRTEAT § T
Choose the correct option - TE HE BT YT PG —

() only @ and @) (1) B () 3R Gi)
(2) only (1), (ii) and (iii)

@ @, D), Gid), (iv) @ Paw (), ) 3 i

. 3 @), Gb), (id), (iv)
(4) only (ii) and (iii) @) B (i) 3 (i)

11- @ Page 9 of 32
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36. Examples of stock are - 36. (P & ST & —
(1) savings, investment, income (1) =4, Mo, s
(2) national income, savings 2) = IAE, g7
(3) investment 3) -
(4) money supply, foreign exchange ‘
reserves () T, sl g
37. As per Agriculture Cemsus 2015-16, total 37. VoRM W ¥ Py TOF1 2015-16 &
number of female operational land holdings in IMER, | afger wErfera Hﬁ-’l Gl @1
the state of Rajasthan was ........ccceuee.. T LBl
(1) 6.70 Lakhs 1) 6.70 @
(2) 8.50 Lakhs (2) 8.50 &g
(3) 7.75 Lakhs (@) 7175
(4) 6.65 Lakhs @) 6.65 G
38. Free trade policy states - 38, YT AMR A0 SORH © —
(1) only domestic trade ’ (1) ST WeEl TR
(2) only domestic plus international trade (2) Sad WEl T4 IRRIS IR
(3) complete unrestrained international @) T'!f st v @ 'cﬁgaﬁ &
exchange plus no barriers to movement . . .
of goods <9 & 99 M 9 A PIE AP T8
() All of the above @) W
39, GST was first implemented as a Tax Regime 39. GST Pl FAYLH TP PN AR B G H
in - R f&mam r?
(1) India 1954 (1) «RT 1954 4
(2) France 1954 (2) Wid 1954 #
(3) Australia 1954 (3) siresferar 1954 %
(4) India 2017 @) N 2017 #
40. High power money includes - 40. <= oifad o1 # wihe § —
(1) only bank reserves 1) odd §6 B
(2) only currency (2) Dad BRI
(3) only paper money (3) DId HEET H&T
(4) all of physical paper and coin currency @) e Wifae SR gET e e
in circulation + bank reserves held by . '
the Central Bank + 4% B R I S 0
41. 'Which one of the following is not a product of 41, FFfaRad # | 4T SIfEFF H1 SUE TEI
learning? 27
(1) Maturation O uRuggar
(2) Attitude Q) - ;qquﬁ[
(3) Concept (3)
(4) Skill @ P
11- @ Page 10 of 32
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42. Problem of choice in an Economy is solved 42. U& refeaRen ¥ T P TR BT GHEF
through - pus aEgT J 8iar 87

(1) Isocost curve (1) <G <THT 95p

(2) Marginal cost curve 2) [HT ARG 955

(3) Short run average cost curve (3) cUPIeN AT ARG I

(4) Production possibility curve @) STET TEAT 9%

43. The correct sequence of 5 E’s in constructivist 43, Ig=@a] SUNH H 5— S &7 98l 39 © —
approach is -

(1) Explore, Engage, Elaborate, Explain, 1) @, G, AwR, @wen, ooy
Evaluation

(2) Engage, Explore, Elaborate, Explain, (2) |, @, [N, e, i
Evaluation i

(3) Engage, Explore, Explain, Elaborate, 3) o, @i, =, o, q\a:nm
Evaluation

(4) Engage, Explore, Evaluation, Explain, @) <ore, Ei, Jeuic, s, fRar
Elaborate

44.  According to Piaget, cognitive development in 44, T0ATS] & ITER, AFG B F-THD [ABRI
human beings has four important stages. The B AR FEaQUl Y g, § rawensil @
correct order of these stages are - S B B —

(1) Pre - Operational — Formal 03 i hareTs BN ATEilRs
Operational — Concrete Operational wipaiee — A ARRTeE —
~> Sensory Motor -

(2) Sensory Motor — Pre - Operational — @ - - Ewaee —
Formal Operational — Concrete draRes < — 7
Operational Gisrars

(3) Formal Operational — Pre - 3) u=mfRes <feea® -
Operational — Concrete Operational Tk — He SRhaeTE —
— Sensory Motor T Ly v i |

(4) Sensory Motor — Pre - Operational — @ &5t — gd—ifrarHs —
Concrete Operational — Formal o e — dimmiRe
Operational 3| ERGTT

45. When a monetary authority uses its procedures 45. 9 U$ Higd WIHRor pfcgen ol
to stimulate the economy, then it is - NeIRT B & TS AT 8, 9 98 —

(1) Contractionary monetary policy (1) dgfaa difgs At sy &

(2) Expansionary monetary policy (2) TEwRaE! At Ny FEar &

(3) Fiscal policy 3) M ARy

(4) None of these * @ SR H Y FE T8

46. The two indifference curves cannot intersect 46, < TSR 9% UFH GEN Bl Y TE Bie
each other, because - B, FIfE — -

(1) their satisfaction level is zero (1) S5 GG T WK [ TA &

(2) their slopes are same (2) ST TTE HAF BT &

(3) they represent the same level of @) T TN wR B agfie 3 auiy §
satisfaction @ < TERE 95 T 9EH e ©

(4) the two indifference curves cannot w31 yRfiia 98 o) 99y
represent the same leve] of satisfaction

11- & Page 11 of 32
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47.

48.

49.

50.

51.

52,

Mental or physical exertion directed to produce ~ 47.
goods and services is -

(1) Capital

(2) Land

(3) Labour

(4) Entrepreneur

“Economics is the study of how societies use  48.
scarce produce  valuable
commodities and distribute them among
different people.” This definition is given by -

(1) Adam Smith & J.S. Mill

(2) Keynes & Pigou
(3) Marshall & Lewis

(4) Paul. A. Samuelson & William. D.
Nordhaus
‘What is the full form of FTP? 49.
(1) Folder Transfer Policy
(2) File Transfer Policy
(3) Folder Transfer Protocol
(4) File Transfer Protocol

resources to

Consumer surplus is the difference between - 50.
(1) What a consumer is willing to pay and
what he actually pays
(2) The price of the purchased good and its
substitute
(3) The price elasticity and the actual price
(4) None of the above

Jeevan Dhara Yojana in Rajasthan is related 51.
to -

(1) insurance for poor

(2) electricity for poor.

(3) health facility

(4) well construction for irrigation
Surveys, polls, interviews, Delphi techniques,  52.
focus group, questionnaires come under -

(1) primary quantitative data

(2) primary qualitative data

(3) secondary quantitative data

(4) secondary qualitative data

GET IT ON
Google Play
[

axgalt iR WAl & ST @ o FeRe

AFRe a1 TiRE aRsM § —

@ T

@

3 =¥

@) ScuaR (S

AT ot HERMT ¥ DY Teaar avgeil

BT FATGT BN & g4 S awgel @l 4=

srefare &1 g R feas €7

1) v R 1@ wigw. B

(2) @i T U

@) 9w EE

@ diw T dwguer U9 faferm. .
RISEIE]

FTP &7 U¥T <R &7 87

Q) icsR TNIHR GiferRd

(2) TiEd TEE ey

(3) ISR TR UIEHid

4) DEd TP TEBe

ST 3TN® 3R & —

(1) SUHITT T BT 3T BT §/H ©
3R w7 PG 98 IRad F JaT T

(2) WO §F T B DI AR SHR
RIS I%G BT DI d

(3) PG diE U9 dRGl® Ea

@) SR F | P TE

TR H S SR GIeTT s 8 —

@) RE g A
2 "REl g e ¥

(3) warem gioenma |
@ RS & o ga0 @ FEord
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53.

54.

55.

56.

57.

The Mundell Fleming model has been used to 53,
argue that -
(I) an economy -canmot simultaneously
maintain a fixed exchange rate, free
capital movement and an independent.
monetary policy
(2) an economy always maintains a
floating exchange rate
{(3) aneconomy maintains equilibrium
(4) an economy always maintains a fixed
capital movement and fixed exchange
rate
A monopolist is able to ‘maximise his profits, 54.
when -
(1) his total cost is minimum
(2) he charges a high price
(3) his average cost is minimum
(4) his marginal costis equal to marginal
revenue
Which one of the foflowi}lg pair is correct? 55,
(1) Kurt Lewin — Humamstlc theory of
learning ~
(2) Thorndike — Connectionism
(3) Maslow — Field theory of learning
(4) Skinner - Theory wof classical
conditioning
The formula of median is used to find - 56.
(1) highest frequent value after arranging
the other values in the data set
(2) lowest frequent value after arranging
the other values in the data set
(3) middlemost value after arranging tlhe
other value in the data set in ascending
order or descending order
(4) None of the above
The theory of demand for money has been 57.

derived from -
(I) Equation of exchange
(2) Demand deposits
(3) Equation of multiplier
(4) Investment demand

forg forr mar & 15 —

(1) U spfawn e 9t Rer fafvmg
Ao fe-a¢ -TE v qpar
U seferaven Akt i o) TR
@l B

T sefEeRn e TR v ¥
U 8, 5 —,

(1) SEDHI F AN LI &

) T SN P o &

)] wa%aﬂﬂﬁamﬁmﬁﬁﬁﬁr

@) B G AFTT aWER 8 e

)

3
“@

A B
FrfeRee 7 9 B g e 87
() T afdT — AfFTH $1 aFEaEE:
| 1]
(2) eoiFSE®d —~ TEHaE

(3) A= — frm @1 &7 R
@) WHITR — SR BT YA e

R —

(D) o9 IRF TR=RAr grell Ger B
89 $H IRERAT D G&T BT T
G

I e B AT BT o B o
95 9 w4 SRl B e
AT FARIE! HH R B

(4) IR § A BIS A

HeT bl AT BT Regia egea= fobar war & —
1) ffm & wiewr @
@) T 5

(3 UF FHIFET

@ e e

)

3)

oy

11- §
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58.

59.

60.

61.

62.

63.

247

The apex body of the foreign trade in Indiais -  ‘58.

™
2
&)
@

Reserve Bank of India

The State Government
Exim Bank

The Ministry of Commexce

Name the teaching model which trains the 59.

learner in purposeful questioning?

4y
(2)
3
@

Advance Organizer Model
Inquiry Traning Model
Sacial Interaction Model
Concept Attainment Model

Non probability sampling are - 60.

1)
@)
&)
@

@
)

3)

@

Stratified sampling
Convenience sampling
Random sampling
Cluster sampling

+eses. i5 also known as the Australian model.  61.

SWAN

IS-LM

Indifference curve
Total product curve

The effect of increased CRR- will bereduced or  62.
nullified, if -

ey
2
(3
@

Bank rate is reduced

Securities are sold in the open market
SLR is increased

People do not borrow from non-
banking institutions

A firm encounters its shutdown point, when — 63.

)]

@)

3
@

average total cost equals price at the
profit maximising level of output
average variable cost equals price at
the profit maximising level of output
average fixed cost equals to price

marginal cost = price
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aRd § faee @R P oY Gen g -

M
@)
3
@

TR Rod 4%
I PR

g s d9
giftrsy A=Ay

SO Rewr gRmE &1 9W 9aEe S
TR aT BT Seeael UeE @A ¥ uiRieE

@

.............

C))

ARW Hirew gioHE

Fel SWIE Th

9% 8 CRR &1 UHIG 4 12dT =T 81 S
g, afg ~

@
(2
3
@

9% T F9 B 4 G0

el IR § wfepgferdil o1 faspa
SLR ¥ gfy

AT -3 denell ¥ SuR 6
ot

T BH SET g5 fIvg BT ARET R B,

aa‘ ——
(1

@)

@

@)

T ol AR a)IER, DHd B rH
ferpaaDRYr fdg T

e aRgdeeliel aIRTa SRR BT
2, oW afpaneRe g W @Ea
EQ

3Na ReR ARG TRER BT 8,
®

QT TG = $iEd
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64. Deficit budget is - 64, HIC & IOl & —
(1) when expenses exceed revenue (1) <9 <99 MM ¥ AfF BT
(2) when revenue exceeds expenses Q) T IMH I Y AP T
{3) when revenue equals expenses (3) 9 JINH @ & gET 7y
(4) None of these @) = 9 P T8
65. Net National Product at factor price cost is - 65. =g IS IR WA AN UK & —
(1) equal to national income 1) T I P GRE
(2) less than national income 2) T I Y HH
(3) more than national income 3) TN I 9 AW
(4) sometimes less than national income @ TN " g A w9
66. Which of the following is mot a strategy 66. fr=ifafRew # & SIRN WAy TR 7
identified by Bruner in concept formation? ey e § T8 ugar?
(1) Simultaneous scanning () ISHAS T BT
(2) Successive scanning (2) TRIRY T
(3) Conservative focussing (3) Frodfed AT
(4) Perceptibility ) WW
67. The CAI technique is based on programmed 67. ¥EHAT I W MR R & —
instruction -
(1) Intelligent CAI 1) difgs cAal
(2) Frame based CAI (2) %9 SmRd CAI
(3) Generative CAI (3) wRieT CAI
(4) Problem Solving @) TR GEEE
68. .orrreeinennn is the inefficient distribution of 68. ... el §IIR W aegell U9 Qi o
goods and services in the free market. e TR B |
(1) External benefits (1) 9T o
(2) Market failure (2) dISIR TTHar
(3) Equilibrium (3) Hgem
(4) Free trade @) &I AUR
69. According to Piaget, the second stage of 69, N & ¥R, WM e @ gad
development is - IR B —
(1) Sensory Motor Stage 1) SEN SN THE Ry
(2) Pre - operational Stage () q,_ﬁ YiehIaTcqd aTavelf
(3) Formal Operational Stage () oFE wWfisaRe saRer
(4) Concrete Operational Stage @) F S sERen
70. The difference between collusive and non- 70. ¥Hsial § TR—asiaT scnaR g &9
collusive oligopoly is due to lack of - T BRU BRT 87
(1) cooperation among firms (1 SE § gsanT
(2) competition among firms 2) wal ¥ yfREr
(3) degree of monopoly 3) THiPeR ) &
(4) None of the above @ R F Y PE T
11- @ Page 15 of 32
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71. Match the following lists — 71. =1 gREl o1 s iy —

List-I ;Eﬁ_l
(1) The measure of spread data about mean (1) WI=R AR © AU 8RR §Y
(2) Simply the difference between the 3iiegl BT A9
maximum and the minimum value (2) e U9 S el B Ay
(3) The arithmetic mean of the absolute =N
deviations of the observations from a (3) B UIRT B AW el B e
measure of central tendency [eger™ @1 |HIR Ay
(4) Relative measure of dispersion (4) SUfENOT T |IUE AT
List-IT 3G 1§
A Coefficient of range A RRER e
B Mean deviation B  TOrg faees
C Range C TR
D  Standard deviation D wHM fdges
1 2 3 4 1 2 3 4
@m D B C€ A M D B C A
@ C A B D 2 C A B D
3) D C B A 3 D C B A
4 A B C D 4 A B C D
72.  Which of the following is not an assumptionof ~ 72. /= # & T7 Te—SIR Hisd B HUW
Harrod-Domar model? TE} 87
(1) There is absence of Government (1) PR EGAT BT 3T BIaT
interference. - .
(2) APC is not equal to MPC. (2) APCTYd MPC Y & &1 &1
(3) The general price level remains (3) M PEd Wk R e 2
constag @ = R R 7 e 8
(4) There is no change in interest rates.

T30 is a systematic record of all the 73, . TP o9 SR 99 9O & 4 Al
economic transactions between one country anffe el o Agd @aRea o€ 21
and the rest of the world.

(1) Balance of Trade (1) UR BT FGe
(2) Balance of Transaction (2) Tafma @1 e
(3) Budget 3) 43¢

(4) Balance of Payments @ YT BT Hge

74. When there is inflation due to'increase in costs 74. Siq @G dg Wi ¥ DT 9% oY, 1 99
of production, then it is - HEd & —

(1) Demand pull inflation @) AT SRR
(2) Built-in-inflation () iz i

(3) Cost push inflation () T S ﬂ?&ﬂ“ﬁﬁf
(4) Galloping inflation @) wRUT ‘jﬁﬁqﬂﬁ
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75. MV =PQ was given by - 75.
(1) Pigou
(2) Marshali
(3) Fisher
(4) Keynes

76. Natural growth rate is open to objection and  76.
study of non-economic factors neglected in —

(1) Kaldor model

(2) Harrod Domar model
(3) Solow model

(4) Lewis model

77. Quantity theory of money says - 77.
(1) The general price level of goods and
service is inversely proportional to
money supply
(2) The general price level of goods and
services is directly proportional to
money supply
(3) The general price level has no relation
with money supply
(4) The general price level and demand for
money are proportional but inversely
related
78. A study by Tendulkar Committee in the year 78.
2011-12, mentioned poveity respectively in
rural and urban India, is -
(1) 13.7,25.7
(2) 25.7,13.7
(3) 33.8,20.9
4 209,338

79. Anindex whose nodal responsibility is on NITT ~ 79.
AYOG which measures poverty in education,
health, standard of living and housing quality
with 38 indicators, is -

(1) MPI (Multidimensional Poverty
Index)

(2) HDI (Human Development Index)

(3) EPI (Extreme Poverty Index)

(4) PI (Poverty Index)

MV = PQ SaRIT oI — /

(1) 9

(2) #Ed A

3) fFEr=

@ s

WHRIE gie T TR—3Nfes HRSBT By ARy

3R ez B g el § RS ceren

H "oRaTery fhar &1

(1) PeeR e

(2) TS SR Hfed

(3) el Hfed

@ iﬁ'ﬂﬁf@ﬂ

HeT BT aRHATT gl 8@ & —

(1) 9HFY @EG W) R @ g o9
A g I &

(2) T PG WR T DT Qi & e
R ¥l B

(3) MM BT WK SR g8 @ gl &
Heg BIY TR T 8

(@) HFT BT W T g7 D AT P

7 fAudia @ anguiee T §

ad 2011-12 3, AgoHR AR & SRTEA B
NI, ARG 3 HE: IWIOT U9 e &
e erure o —

(1) 137,257

(2) 25.7,13.7

(3) 33.8,209

4 209,338
Wi e e Aed N 8, 98
Yasis o & R, e, Siaq wR aer
JTTE I[OERT @ ORI 38 gIB] H N
BT G BT & —

(1) THANAE. (SR T GASiD)

(2) vadleE. (A e gasis)

(3) SHE. ks W gusis)

@ g, (T Ewis)
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If Karl Pearson’s correlation value is r = 0.9,
then it suggests -
(1) a weak and negative relation between
two variables
(2) astrong and positive relation between
the two variables under consideration
(3) a weak and positive relation between
the two variables under consideration
(4) None of the above

Which of the following is incorrect?
(1) GDP at Market Price = GDP at Factor
Cost + Net Indirect Taxes
(2) NNP at Factor Cost = NNP at Market
Price — Indirect Taxes
(3) GNP at Market Price = GDP at Market
Price + Net Factor Income from abroad
(4) None of the above
In order to reduce money supply in the country,
the RBI may -
(1) buy securities in the open market
(2) sell securities in the open market
(3) reduce CRR
(4) reduce bank rate

.................. is based on the assumption that
income is determined by investment through
multiplier.

(1) Kaldor model

(2) Harrod model

(3) Domar model

(4) Hicks Hanson model

The type of unemployment caused by changes
in the business cycle is -

(I) Structural unemployment

(2) Natural unemployment

(3) Frictional unemployment

(4) Cyclical unemployment

Which is the other name that is given to the
average revenue curve?

(1) Utility curve

(2) Demand curve

(3) Marginal cost curve

(4) Indifference curve

80.

81.

82.

83.

84.

85,

/

[

e el ARl Tone #T 4 r=098, &

I T & —

() < oW T 7T PANR HUTAD
HAeEH

(2) =Ra =R & =y 9= v gaHS
T

3 aRe == & wma F9R TG
YFTCHE TSR] !

4) S ¥ ¥ Big TE

=1 # & wieta g —

(1) GDPwp = GDPrc+ fAgg smcaer o

(2) NNPrc = NNPw — fIgg smeug
P

(3) GNPwmp = GDPyp + fae=i 9 wra
fagre ema

@) ST P T

<9 ¥ qg1 qfif § 9 &g RBI &% —

D) T F9R | ufrgfort o1 By

(2 o IR # ufcpifrat &1 fassy
(3) CRR # 7))

4 TFwd el

TH 9Ial W AERd § fF
g Bl [FEiRer quiE & I 9 Faw gR
BT 2 |

1) DR Hied

(2) TS Hfsd

(3) SR Hisd :

@) o9 o Hied

MR W URTaT & PR B9 R @
RIS Bl 87

(1) RS TR

2) WPRiE RIS

(3) URREEE SRISRN]

@ THI RSEY

Fr=rferaa # & SiF—<ar alibd or T 9 &1
TERT A 87

(1) SYMBT TH

(2) HT T

(3) <M AN 9%

4) Gl 9%
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86.

87.

88.

89.

90.

91.

In 2020-21, in which crops Rajasthan got first ~ 86.
rank among large producers?
(1) Coarse cereals, rapeseed, mustard,
total oilseeds
(2) Wheat, mustard, rapeseed
(3) Pulse, soybean, wheat
(4) Soybean, pulse, wheat, rice
Highest fall in the sex ratio in 2011 among 87.
0-6 years age group children among following
districts are -
(1) Dungarpur, Jaipur, Sikar, Rajsamand,
Tonk
(2) Ganganagar, Karauli, Bharatpur,
Dausa, Udaipur
(3) Kota, Baran, Bundi, Sawai Madhopur,

Tonk
(4) Udaipur, Banswara, Dungarpur,
Sirohi, Ajmer

‘What was population growth rate in Rajasthan  88.
during 2001-2011?

1) 21.3%

(2) 2521%

3) 28.41%

@) 2241%

The external cost others pay as a result of our  89.
consumption is referred to as a -

(1) positive consumption externality

(2) negative consumption externality

(3 positive production externality

(4) negative production externality

An investment made by a firm or individual in ~ 90.
one country into business interests located in
another country -

(1) Export

(2) Import

(3) FDI (Foreign Direct Investment)

(4) Investment

3
Which of the following district has highest 91.
percentage decade growth rate of population
2001-2011?
(1) Barmer
(2) Ganganagar
(3) Chumu
4) Alwar

4) SN

2020-21 %, 9< SEe! & Yo A 5
Bae § UM wIE W e
(1) e I, oS, TR, el foers
@) g, TN, s
(3) <, SaEE, 9%
@) SIEE, S, 95, TEd

2011 & = R wgE % 06 a§ & Tl
# foirgura # s Riveae o —
1) IRE, AR, W, AT, i
) TR, PR, wRAgR, I, STAGR
@) e, o, ¢, W AR, <
@) SR, INTE, TREE, RRE
ISR

IRl ¥ 2001 ¥ 2011 & T ST Bl
gig 8T &l —

1) 21.3%

(2) 2521%

(3 28.41%

@ 2241%

TR ST ¥ S §TEl QNG gER YA
(1) oS SYGNT drerd

(2) FUTES SUAFT FrErar

(3) UFIIP SIe el

(4) FEURES SUIEA gl

e < v wH @ @fed g = T
29 ¥ @R # Bfy ¥g {5 o 2, e
2

1) )

Q) IEE

) THLeE. (ue el )
@ g

frfafeg § 9 o9 | R @1 swen
wTeRE gfg &% (2001-2011) wEifwE 87

1) TSR
@2 TR
3 =T™
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7
92. The twin condition for equilibrium in a 92. UHRGR IR F awge vq fged € —
monopoly ' market is’ (1) MC=MR, MC 9%, MR a5 &1 19
(1) MC=MR, MC curve cuts MR curve g e
from below (2) MC>MR, MC 9%, MR % &I 1
(2) MC>MR, MC curve cuts MR curve J I
from below (3) MC<MR, MC 95, MR T #1 $
3) MC<MR, MC curve cuts MR curve J FR
from above
4. MC=MR, MC curve -cuts MR curve @ g(;g& MC w7, MR 56 BT SR
from above
93. Which of this is not the focal areas of 93. 9 ¥ &9 a1 Rrr FiREM @1 o<y a5
Educational Psychology? TE 8?
(1) 'The learning status 1) b= B )
(2) The learning situation 2 b 9 Ry
(3) The learning process 3) e @ uftrar
(4) The learner @ T T
94. Identify the items which is not a factor 94. = #al § & OrE Yaw & & —
payment? 1) G99 S F ot Fees TTm B
(1) fre€ uniform to Defence personnel g
(2) salaries to the Members of Parliament (2) <GSl BT a9
: (3) imputed rent of an owner occupied @) #oF " N IRINT fewmEr,
building wWd & HHM W
(4) scholarship given to-thé students @) REnRRY @1 oEERY T B
95. M: money includes - i ) 95. M, HsT ¥ wide § —
(1) Currencies, demand deposits, post (1) S 9 907 ST, ST BR g9 SIHY
office savings deposits " 5 el
(2) Bonds, government séc_urities 2 i _
(3) Equity shares + Total post office (3 sEE MR + SFR B Fa ol
deposits’ * ) o ETaR ST
(4) 'Time deposits of banks . BRI
96. 'Why Rajasthan lately being considered largest 96. &=ha @] §icHPT ¥ WoreF 999 IS
staté’area wise? ? G AT S G, Falfe —
(1) Due to partition of Bihar 1) BRI & fye e ¥
(2) Due to partition of Madhya Pradesh (2) U D fOvad 89 9
(3) Due to partition of U.P. (3) TR TRY D Avad e 3
(4) None of these : @) =Y P T8
97. The purpose to promote financial $fability and  97. 37 SR¥dl & ORI i el vd anffe
economic growth amofig -other objectives is gfg &1 UIcaIiRd T T 959 & —
of - H
(1) UNO. - (1) ITES (UN.O.)
(2) IMF o ’ (2) IMETATE. (IMF)
(3 WTO . (3) YL (WTO)
@ GATT @ =hgddl (GATT)
11- § Page 20 of 32
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98. The three central problems of an economy 98. arefereRen # 0F DRy gHed § —
are - - .
(1) What to produce, when to produce, Q) = BEEIIIQEI\%'EIT M, 9 S
) frar S, BN See A W
which to produce @) FE-a SwEd a WY, B9
(2) Which to produce, how to produce, TTeq fhar wiw, fFa @1 Saurgs
who to produce fowa g
(3) What to produce, how to produce, @ EF&TE e, e ;'qw & R
whom to produce SITG.
(4) When to produce, who to produce, @) w9 Swued fHar WY, fEE @
where to produce GTQW fefan e, ef S A
99, Who wrote the book “Problem of Capital 99. “Wigei 3ifF dfica wEREM 39
Formation in Under-developed Countries”? IFE-SaeTE HLI | [ T ferEr?
(1) Ragnar Nurkse 1) TR THH
(2) Adam Smith 2 veq Ry
(3) Ricardo 3 Rl
(4) Schumpeter @) W
100. Which of the following is not a part of system 100, FFfeIRad # | BITET TOTell SURTH T 97T
approach? & 27
(1) Training Psychology Q) wiRPwE FRs
(2) Cybemetics (2 vEsEieEd
(3) Hardware (3) TEHRR
(4) System Analysis (4) voTrel Reor
101. With a given state of technology if the quantity 101. & 7¥ CHFireifon # I TS & T ARM
of, one factor input is increased by equal # §AM gig o SR T T 3 AR 6
increments, the quantities of the other factor AE-ReR <@ o &, o gaured | gﬁ‘y
inputs remaining fixed, then the resulting ey ¥ 2l fh Sres ues o SR,
increment in total product will first increase but s PEd € —
decrease after a period of time, this is called - @ ™ B uRwa
(1) Returns to scale @ Y B Rer uRiwer
(2) Constant returns to scale @) TRadaH 3]’1‘11&"?[ 51 Fra
(3) Law of variable proportions @ D o X 3 f
(4) Increasing returns to scale
102. Which of the following is not a characteristic  102. 7 3 9 (FHIRERHS GRENRRT TGR &
of monopolistic competition? eI 98l B —
(1) Ease of entry of firm into the industry (1) H &1 SN H I A
(2) Product differentiation () g e
(3) Relatively large number of sellers @3) Gﬁﬁl@'ﬂ R Rpgedt
(4) Homogeneous products @) TEE SAE
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103. In the long run a competitive firm has optimum  103.

allocation of resources, which means -

SdEe 4 v uikErl o & GamEr @
Ireerd JrEe &, gHar 3l § —

GET IT ON
Google Play

(1) LARSLEMR>PSLMCSLAC (1) LAR>LMR>P>LMC>LAC
(2) LAR=LMR=P=LMC=LAC (2) LAR=LMR=P=LMC=LAC
(3) LAR<LAC (3) LAR<LAC
(4 LMC<LAC 4) LMC<LAC
104. EBconomic development means - 104. nRiw fawrT & el —
(1) economic growth 1) el gfg
(2) only increase in GNP (2) Hdd GNP # qi
(3) economic growth plus progressive (3) aniie gig wd il aRaes Gl
changes in certain important variables e Jogam =i § & 5 A @
which determine well being of people I T TG B 3 e §
(4) only increase in per Capital income @) waa TR o i oy
105. Balance of Trade is related to - 105. SUR Hded ST § —
(1) transport services 1) IEIE |Gy
(2) insurance ) 49
(3) imports and exports of goods 3) q'\ﬁaﬁ' T T w9 i
(4) banking @ dfeT
106. In a market, transactions are statutorily 106. V& F9R forl e RewT § dFeT w
regulated so as to put an end to unfair practices. gz 81 REw Tod a9 FT IAFT ST
Such markets may be established for specific TP | U IR @1 RIgEr 99y Swre g
products or -a group of products eg. stock JAGT $ TE O WTih TS B R
exchange, is known as - Bl & A FEag § —
(1) wholesale market 1) oiF TR
(2) irregulated market @) SRR aeR
(3) very short period market @) T FEPIRF TR
(4) regulated market @ RFERGT TR
107. The term .......... . refers to a sequential order 107. TF FiR¥=d s &1 &l =) & = &
of values of a variable known as a trend at equal iR B9 3 w9 omTe @ Wiy @ |,
intervals. % Tor SUANT H T ST 2
(1) time series analysis (D  Fia Ho0 Rueyey
(2) smoothing techniques ) :r:ﬁwrsi aEE
(3) barometric methods 3) ReRe R
(4) surveys @) w¥eor
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108. Match the following — 108. &&= & — .
@ Trade cycle (A) a phase when (1) UR TF (A) Si§ MR
business is at ey wR
@ D _ ®) lowelst ebb w®a
ii epression regular i )
’ ﬂfctuations in @) H B) W g d
the level of fRe sar-
Nation income ECIE]
(iii) Recovery (C) 1is also known (i) Rea (© frar 4]
as expansion TToER
(iv) Boom D) a large ] ( N EI ¥
expansion  of @) () D) W = W
production and A ST T
trade GUR
@H G @) @) G G G )
B A C D M B A C D
2 A B C D 2 A B C D
3 C A B b 3 C A B D
9 Db C A B 4 D C A B
109. Dual sector growth model is popularly known 109. fF&=g @ diser W wIar & —
as -
(1) Marshallian (1) e
(2) Keynesian () HERE
(3) Lewis 3 @A
(4) Rostow 4 =T
110. ............. is an economic state where 110. ... g tp e Refa & forad
resources cannot be reallocated to make one |rEAT DI AT UF A DI JHam
individual better off without making at least qgag TR T\q% T I B8R B D for
one individual worse off, 98 fopar <1 9odr|
(1) Balanced growth 1) _\"@ﬁ;ﬁ Eﬁg
(2) Pareto optimality @ e ST
(3) Unbalanced growth @) sl iy
(4) IS-LM concept @) IS-LM SeauRoT
111. RUDA has obtained Geographical Indication 111. difg® AwRT aRHdT B & d8q w1 7
(GI) registration for crafts under its intellectual Brea & fog 9Mifeles Ooae UsiawoT U
property rights inititative. Which craft is NOT frar 21 o9 ¥ Ry Y GI yra =9 fpar
included in GI? 27 -
(1) Jodhpuri juti ) \_rﬁaﬂf[ S
(2) Kota Doria ‘ @2) @ T’:’\[ﬁiﬂ
(3) Bagru Hand Block (3) 4N e =i
(4) Blue pottery @) O -
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" 112,

113.

247

]

The Flagship Schemes introduced by DLB of 112.

Rajasthan are -
(1) Indira Rasoi Scheme, Indira Gandhi
Urban Credit Card Scheme
Palanhar and Uddan
Kali Bai Bheel Yojana
Ghar-Ghar Aushadhi Scheme

2
&)
@

GET IT ON

Google Play

Which of the following is correct for elements 113,

of teaching model?

(1) Focus, Syntax, Social System, Support

System
2

Syntax, Social System, Support

System, Transformation
(3) Focus, Social System, Transformation,
Application
@

Application, Transformation, Focus,

FRIRY AoHE S 5 IR @ I
e 9T g o’y a1 T § —

(1) sfar Wi dior, siewr 1 T
g (fSe) a1 WA
UEHER 9 S8

(3) HreNals Wiel IS

@ TR—ER Ml o

feforRae # 9 i e ufeas & acl
3 o wd &7

(1) o5 (g <o, amifg yomen,
3aes Tl

YOITAl, HYTROT

SURT

@) SN, FURRE, % (97, <@

¢

@

&)

Syntax
114. The index that depicts the value of country’s 114. T8 JEdid [T da < & ol
total exports minus total imports and ratio ﬁ!:ﬁ?r—ow I g Faig @ HEa vl
calculated by dividing the price of the exports AT B DI BT I T 100 HRD
by the price of the imports and muitiplying the T I &, 98 dedl € —
result by hundred is -
' (1) MRTS (1) UHIRZITE. (MRTS)
(2) Terms of Trade (2) =R W
(3) MRS 3) TAIRT (MRS)
(4) Foreign exchange rate @ faced R w
15 ... was created to emphasize that 115, .. EDid Giera fbar T o e
people and their capabilities should be the DI AOF B RN DI LA BT AIG0S ]
ultimate criteria for assessing the development R &y s savad © @m THATH
of a country not economic growth alone. anfefes g 3|
{1) Poverty index @ 6 W
(2) Happiness index 3 . .
(3) (HDI) Human Development Index @ (%uﬂﬁﬂ S%?Fﬁ)
@) (MP) Multidimensional Poverty () WG 3BT EHi (HDD)
Index 4 TEIEMl TNl EBiS (MPD)
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116. Hicks separated the substitution effect and the 116, RFT - TR UHE T o WG &
income effect from the price effect through - P TG ¥ YIE 599 T —
(1) increase in demand of good (1) TR DI ART F afg
(2) increasing the real income (2) I~dfaE g # gfE
(3) compensating variation in monetary @) @R e A e 3
income ;vith (keeping the real income (arefaes o @) ReR v w9
constant . 5 3
(4) no change in either monetary or real @ #f® @, s TP
income RacreT Tl
117. Daniel Goleman is related to - 117. <F9a MedyT a9t § —
(1) Learning 1) s
(2) Intelligence ) g@ g
(3) Emotional Intelligence (3) WIRAG EIE q
(4) Motivation @ fRoT
118. Disinvestment of public sector unit comes 118. Aewi—e &7 seear 3 faftaw fw #§ smr
under - &7
(1) privatisation 1 fofie=o
(2) globalisation @) s
(3) urbanisation @) TEDEI
(4) None of the above @) SR § T DI TS
119. Money in traditional sense - 119. uRwReE el A T —
(1) only serves as a medium of exchange (1) g RYTT & 9~a9 @ B9 § 81T
(2) only serves as a store of value g .
(3) serves as both medium of exchange @ @I FSREEIIC R BT & .
‘ 3 R o1 o9 9 489 & WD
and store of value S
(4) serves. neither as medium of exchange @ = & ffmg o T T & 9=
nor store of value EHYEP BT B
120. Who is the custodian of monetary reserves in 120, #ifS® Y o7 TReD DI B?
India?
(1) SBI 1) vadLaE, |
(2) SIDBI 2) fas@
(3) NABARD (3 e
(4) RBI @ omdians
121. The acceleration coefficient is the ratio 121, TR JJUM & — !
between -
(1) induced investments to a net change in (1) IR A% vd Sy =g § faerg
the consumption expenditure Rrard
(2) induced savings to a net change in ]
govt. expenditure () ﬁﬁﬂ;ﬁtﬁ T4 ERBNY Y H iR
(3) induced savings to a net change in 3) 3Ra Tag vd uRka Mo
induced investment @ B G
(4) None of the above
11- § Page 25 of 32
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122. The welfare of the people is not necessarily 122. 3G FHeamr FMEWSG ©I ¥ YAy
captured with per capita income, because - | gi?g{ TE e, R —
(1) the quality of work conditions matters 1 -8B ORI &1 A5 giar &
(2) the education Ievel matters 2) BrT o1 w"R
(3) health benefits matters (3) <areT oM
(4) All of the above @) t{q‘ajcﬁ—r 5y
123. Which of the following are not the tools of 123. /7 # &/ &1 4T #ifge AT F1 SuHwr
monetary policy? &l 87
(1) Reporate @ e
(2) Open market operation '?)) qg?,‘[ IR @
(3) Selective credit control (3) =g axa Fa=
(4) Taxes @ ==
124, ..o tells what the increase in the level of 124, oo TarT & & g o ¥ gfy
equilibrium income would be for a unit Uiy SHE W &9 H gig & BRI BT
increase in autonomous spending. =1
(1) Accelerator 1) e
(2) Inflation ) wﬁ[
(3) Multiplier @) T
(4) Phillips curve @ Tl o
125. ... refers to the effects of scale 125, .. TP QEGle @ SdaT P
relationships and is a long seen analysis of faweryer vd 49H & wwial @ Tl § G
production. T 2|
(1) Law of diminishing returns (1) TEHF YR BT FEe
(2) Law of production ) v @ frem
(3) Isoguant curve analysis (3) wHRaE 9% favenyer
(4) Returns to scale @ Y B awe
126. Average revenue is the revenue earned - 126. 3fad o, 3ifoia M & —
(1) per unit of input 1) FrE 3 ufa g
(2) perunitofsales (2) fapr o uiv sH1S
(3) different units of input 3) A & Rt soedl
(4) different units of output (4) ST 3 AR soEdt
11- @ Page 26 of 32



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

247

‘Adda

127. Which one of the following factor is barrier to  127. Fr=ifoiRaq & & o9ar FRG Gl HeT
verbal class-room communication? TR ¥ EF a7 :
(1) Use of simple language & symbols (1) SRS 99T 98 Ydiel BT 94T
(2) Unclear graphics and symbols (2) 3O YT 9 Wil®
(3) Use different resources & methods @) R darmi @ AR &1 g
(4) Use less Verbalism (@) T STl BT AT
128. Which is not an example of cooperative 128. TTH ¥ @M AT UgANTHG SARFH HT
learning? SITET 8 B?
(1) Problem based learning (1) 9F=T AERT AR
(2) Think — pair share (2) PRis—UIr IR
(3) Jigsaw @) Rt
(4) Project based learning (4) TTESTET AEnRa SR
129, .verreiinn, away of summarising the datainthe 129, oo sifwel. o1 fafie a1 gafE
form of a typical of representative value. eI & 69 § ARIRK % & Th a9 © |
(1) Measures of savings 1) 9= B H99R
(2) Measuring of multiplier (2) TS P YD
(3) Measuring of accelerator (3) TR FT TP
(4) Measures of central tendency @ B gy 3 AH
130. High power money is produced by — 130. <= wfdw a1 9 R Scailea @i wiRl
2
(1) Ceniral Bank @ = .
(2) Central Bank + Government of India (2) ST §p 9 NG PR
(3) Central Bank + Commercial Bank @) > Jo g auRe §6
(4) None of the above @) SR IS PE 0 T8
131. According to Havighurst, which is not the 131. e @ SR, feiRraen FT fAeres
development task of Adolescence? SR BT T 87
(1) Accept the physical body/structure and @O e R/ G B WHR BT
keep it healthy U9 T 17 AT
(2) Become socially responsible Q) IR &Y § RER &
(3) Become more happy and healthy 3) ?gﬂ‘%ﬁY Ty T
(4) Prepare for job and career @) S 3k BReR 9 Sar By
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132. To promote fair trade between nations, is the 132. =T o & T=T <EYP! IER @1
goal of - YR BT 92y |
1 WTO () SIS (WTO)
(2) World Bank 2) fiza ¥
3 IMF (3) SETATE. (IMF)
(4 WHO 4) S=gTas. (WHO)
133. Mode of the values 1,2, 3,4, 4, 5is — 133. e Al o1 9gae 9 B —
1,2,3,4,4,5
@ 19 1 19
@ 3 2 3
3 1 3 1
@ 4 @ 4
134, ...oeoneene.. is the integration of the real and 134. ... qafad g9 Aifse S9Nl B |
money markets. THHT B | ‘
(1) Pareto coefficient @) e e
(2) Pareto efficient point 2 W EAERL] ﬁg
(3) IS-LM by Hicks Hansen (3) a9 &9 sRTIS-LM
(4) IS-LM by Marshal Pigou @) =rfe N g7 IS-LM
135. When inflation beyond an acceptable level 135. ¥ HEwifd & WX (F HH ®R A
takes place, the country’s Central Bank - e B W ?, O eI 8 —
(1) decreases the bank rate () SPSRESTSH 2
(2) increases the bank rate 2 P agredr g
(3 does not change bank rate @) o = F o uRadT TS Fd
(4) increases investment @ R ver @ @
136. To reduce poverty through financial assistance, 136. 3= WERT & AEgH & TRl B BF B
is the goal of - Pl T T —
(1 WTO (1) sS<gaal (WTO)
@) ICICI () sEHAEHE. (CIC)
(3) World Bank 3) fiwm ¥w
@) WHO v @) S=YTI3N. (WHO)
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137. When an oligopolist individually chooses its
level of production to. maximise its profits, it
charges a price, that is -

(1) more than the price charged by either
monopoly or a competitive market
(2) less than the price charged by either
monopoly -or a.competitive market ¥

(3) same price charged by a competitive

market

(4) less than the price charged by a

monopoly and more than the price

charged by a competitive market

............. .1s working closely with the rest of the

“World Bank group to formulate an integrated

approach to private sector development.

(1) SAARC
2) WTO
3) MIGA

4 1IMF

139. Kaldor postulates -
(1) the technical progress function which
shows a relationship between the

growth of capital and productivity
incorporating the influence of both the
factors
(2) the income growth and population
growth
3
@

140. When a monopolist divides consumers into

investment growth
savings growth

separate submarkets and charges different
prices in different submarkets, it is known as -
oy
2
3
@

First degree of price discrimination
Second degree of price discrimination
Third degree of price discrirnination
None of the above

W U SOdeeNl A U o

ARHT T B okt To ST BIRR B

TN AR, < 95 DG o B, S —
1) I TR T TeRmR W

wfcrvT i e

. @ T ERR § weiteR A ol wiand
PR

@) wRER I9R & GEIE HEd

@ vPReR TGR § T P

138. ol &9 & o vy gHied e |

fowg 95 wE & 9 We} b W @

&

1)

)

137.

-

AP (SAARC)
TR A3 (WTO)
(3) TAAEAY, (MIGA)
(4) STETATE (IMF)
139. DoeR AT — .
(1) TEae I B SLfE SarRsar
v golt #riafEd emmw #F day
waw ¥, St 5 g @ wEe @
@ om A gy o srEen @ g
@) Faw g
Ioa gts ¢ #

4)

i i

140. T P UHIOBR SYAIEIRT BT ST—aaRi
H faved HRar & aen - o o
8, Tl T§ PEend § -
(1) v o awg fave
2 & s agg foe
(3) T[WH f&h oxg =
@) SRE § WP A TE ¢

»
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141. A purely competitive firm’s supply schedulé in  141.
the short run is determined by -
(1) Average revenue curve
(2) Total Revenue curve
(3) Marginal Utility curve for money
(4) Marginal Cost curve |

142. 1If r is correlation coefficient, xi, yi are two 142,
variables, X and ¥ are arithmetic mean of x;, y;
variables, then -

D r=2-DEGE-N/ZFGE-F
xi-X) sl
@ r=22 x-%) - ¥)/
VZ -0 X —§)?
B r=Ex-yw) E—D/ -yl T
&—9)*
@ r=2&®-yw (X— §)/
VE& — )2 ZE - §)?

143. National income differs from Net National 143.

Product at market price by the amount of -

(1) current transfers from the rest of the
world -

(2) netindirect taxes
(3) national debt interest
(4) they do not differ

144. A child wants to go to disco with friends butis 144.
afraid of being scolded by parents. This type of
conflict is called -

(1) Approach — Approach Conflict
(2) Approach - Avoidance Conflict
(3) Avoidance — Avoidance Conflict
(4) None of the above

145. The goods that are non-excludable and non- 145.
rival are -
(1) private goods
(2) public goods
(3) consumer goods
(4) perishable goods

GET IT ON
Google Play
-

TP qU gg AR $H BT Mg 9%

Sreadrel § Frifa 2ar & —

(1) =i o 9% 9§

(2) T ATH 9P

@) 51 & fog dmg Suaifar 9% 9

4) =T A 9% |

afd r S OIS oI X, v; & AW E IR

X, yi TN BT WANR TR X QT §

a9 —

D r=2&x-DEGE-N/ZF-F
(xi-X)

@ r=%2&x- %) @G- §)/
VEE -2 X —§)?

@ r=Zx -y E—N/Z xi—yi)
ZE-9?

@ r=2X & -y (X=5) /
VEE -y X (E—-9)?

TSR A, E TS Sy INR g9 W

TR e e ae g —

(D I TER | oIl SRy

2) fogg svcue a7

(3) I FT A

@) T B IR 2

TP 92T 3 ) & <rt fevepT ST =meer

2 IR R 81 AT O & Sic 9 swar

2| I8 P9 PR B Wy /g 87

(1) SUFHE — SUFM I<EE

(2) SUrFMA — uRER |

(3) URER — TRER sFIg%

@ Swig § q Big TE

R-afdspa den R—uREgs awgd & —

(1) ool Ty

() RGNS TR

(3) SN TRY

@ Tl a)E (< 89 arh)
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146. When other things remain same, law of supply 146.

states that -

@

@

3
@

147. The three components of fiscal policy are - 147.

»
()
3
@

148. Who manages exchange rate of our national 148.

quantity supplied decreases with
increase in price and increases with
decrease in price.

quantity supplied increases with
increase in price and decreases with
decrease in price.

quantity supplied remains constant
with increase or decrease in price.
quantity supplied remains constant
with increase in price and decreases
with decrease in price.

Government  invesiment, public
savings, Foreign exchange

Demand deposits, public debt,
Government receipts

Government expenditure, public debt,
Government receipts

Public debt, Government receipts,
Foreign exchange

currency?

0y
2
C))
@

149. An economic system in which all the means of 149.

Central Bank

Commerciat Bank

Central Bank and Commercial Bank
None of the above

production are owned and controlled by private
individuals -

4y
¢
3
@

150. In new welfare economics, capability approach  150.

Mixed economy
Capitalist economy
Communist economy
Socialist economy

is associated with the economist -
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